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R =2 39 = .
curat mm/N 0.0150 25 kg 15 2
=2 Uy J2|A 2E =M A ©
S84 M 2EE g
=57 =1 Zai(kg) =
AERT | AERT | B2y ===
sy () ) U= 3™ £ (rpm)
20 30 40 50 60 80 100 d
" 22 4.0 3.4 3.0 2.6 2.3 1.7 0.7 =
30 4.4 3.9 3.4 3.1 2.8 2.4 2.0 ||B—
20 30 3.0 2.5 2.2 1.9 1.7 1.3 05 |72
40 3.2 2.8 2.5 2.2 2.0 1.7 1.4 |lul=
2 37 2.5 2.1 1.9 1.6 1.4 1.1 0.4 |8 —
45 2.7 2.3 2.0 1.8 1.6 1.3 IRERIME
0 42 2.2 1.9 1.6 1.4 13 1.0 0.3 d
50 2.3 2.0 1.8 1.6 1.4 1] 0.9 g
5 47 2.0 1.7 1.5 1.3 1.2 0.9 0.2 o
B 55 2.1 1.8 1.6 1.4 1.3 1.0 0.7 g
5 52 1.9 1.6 1.4 1.2 1.1 0.8 0.2 —
60 2.0 1.7 1.5 1.3 1.2 1.0 0.6 K
0 58 1.8 1.5 1.3 1.2 1.0 0.8 0.2 3
70 1.9 1.6 1.4 1.3 1.2 0.9 0.8
- 65 1.7 1.5 1.3 1.2 1.0 0.8 0.3 ,
75 1.8 1.5 1.4 1.2 11 0.9 0.7 =
a2l
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85 1.7 1.5 1.3 1.2 1.1 0.9 0.7 g
- 82 1.6 1.4 1.2 1 1.0 0.8 0.6 ”
90 1.7 1.4 1.3 1.2 1.0 0.9 0.7 |5
" 27 3.6 3.1 2.7 2.5 2.2 1.8 0.9 ||&
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o0 33 2.7 2.3 2.0 1.8 1.7 1.4 0.6 |
B 50 2.9 2.5 2.3 2.1 1.9 1.6 1.4 s
20 46 2.3 2.0 1.7 1.5 1.4 1.1 0.2 4
55 2.4 2.0 1.8 1.7 1.5 1.3 PR | —
10 54 2.0 1.7 1.5 1.4 1.3 1.0 0.1
65 2.1 1.8 1.6 1.5 1.4 1.1 1.0
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E A7}
= O HA
&= ENZ a2 ENY
LaAEZT mm max.150 o= ol =4 N 2000
Lb AEZ3 mm max.50 Q= ol Yo|CjY N 1600 H
La AE23H |2 Z2¥moa) kg Q= 2N DHE kg'm2 2.4x10° E
b AE235 L= A2k (mob) kg L{= OF2 £31(Tin) N-m 48 o
B butst mm/N 0.003 gre He mm +0.02
=2 =8 44 -
culsk mm/N 0.020 =X Y kg 25 _;.:_
28 g EEENEET A Al <
SHZ M WY i
SXZ Hx H(kg) =
AER3 | AER3 2zt TS
) T a A= S/H S5 (rpm)
10 20 30 40 50 60 70 80 (E)il
10 21 8.0 6.4 5.4 4.7 4.1 3.6 3.2 28 ||_|E
20 30 6.0 4.7 4.0 3.5 3.1 2.7 2.4 2.1 ?‘l o
7t
30 36 5.0 4.0 3.4 2.9 2.6 2.3 2.0 18 ||=l=
40 N 4.4 3.5 3.0 2.6 2.3 2.0 1.7 15 || S
50 46 4.0 3.2 2.7 2.4 2.1 1.8 1.6 1.4 d
k=13
60 50 3.7 3.0 2.5 2.2 1.9 1.7 1.5 1.3
bl
70 54 3.5 2.8 2.4 2.1 1.8 1.6 1.4 1.2 5
La 80 58 3.3 2.6 2.2 2.0 1.7 1.5 1.3 1.2 —
H
90 60 3.2 2.5 2.1 1.8 1.6 1.4 1.2 1.1 ol
100 64 3.1 2.4 2.1 1.8 1.6 1.4 1.2 1.0
110 7 3.0 2.4 2.0 1.8 1.5 1.4 1.2 1.1 o
120 77 2.9 2.3 2.0 1.7 1.5 1.3 1.2 1.1 2
130 84 2.8 2.3 1.9 1.7 1.5 1.3 1.2 1.1 il
140 9 2.8 2.2 1.9 1.7 1.5 1.3 1.2 [
&
150 99 2.7 2.2 1.9 1.7 1.5 1.3 1.2 1]
10 27 6.7 5.4 46 4.1 3.7 3.3 3.0 2.7 |18
20 37 5.0 4.0 3.4 3.0 2.7 2.4 0.2 2.0 g
Lb 30 45 4.2 3.3 2.9 2.6 2.3 2.1 1.9 1.7
40 52 3.7 3.0 2.6 2.3 2.0 1.8 1.6 1.5
50 58 3.4 2.7 2.3 2.1 1.9 1.7 1.5 1.4
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sS4
EC ENz e ENz
LaAEZT mm max.200 o= ol =4 N
Lb AE23 mm max.60 EEEEENEEE N ”
La AE238 L§2 X2imoa) kg QX BN DHE kg-m?2 8.6x10% E
b AE235 L= A2k (mob) kg L= OF E3(Tin) N-m o
So5 28 24 bE‘;E%F mm/N 0.0025 H_r_%xgg mm +0.02
curat mm/N 0.0250 25 2y kg 2
28 EEIENEH] M ©
597 NN WY P
AERT | AEER3 212t Sepl ) -
e o sy LAE 2|H £ (rpm) 7
10 20 30 40 50 60 70 80 d
10 20 ne | 89 7.5 6.5 5.7 5.0 4.4 3.8 =
20 28 8.2 6.5 5.5 4.8 4.2 3.6 3.2 28 |5
30 33 6.9 5.4 4.8 3.9 3.4 3.0 2.6 23 ||o E
40 38 6.1 4.8 4.0 3.5 3.0 2.6 2.3 20 ||BF
50 43 5.5 4.4 3.7 3.2 2.8 2.4 2.1 1.8 E;;?
60 a7 51 | 40 | 84 | 29 | 26 | 22 | 1.9 | 17 d
70 50 4.8 3.8 3.2 2.7 2.4 2.1 1.8 1.6 L
80 53 4.5 3.6 3.0 2.6 2.2 1.9 1.7 1.5 o
90 57 4.3 3.4 2.9 2.5 2.2 1.9 1.6 1.4 s
L 100 60 4.2 3.3 2.8 2.4 2.1 1.8 1.6 1.4 I
110 62 4.0 3.1 2.6 2.3 2.0 1.7 1.5 1.3 ol
120 65 3.9 3.0 2.6 2.2 1.9 1.7 1.4 1.3 -
130 68 3.7 2.9 2.5 2.1 1.9 1.6 1.4 1.2 "
140 70 3.6 2.9 2.4 2.1 1.8 1.6 1.4 1.2 g
150 73 3.5 2.8 2.4 2.0 1.8 1.5 1.3 1.2 ZZ
160 78 3.5 2.7 2.3 2.0 1.7 1.5 1.3 12 || R
170 83 3.4 2.7 2.3 2.0 1.7 1.5 1.3 12 L
180 88 3.4 2.7 2.3 2.0 1.7 1.5 1.3 1.2 %
190 94 3.3 2.6 2.2 1.9 1.7 1.5 1.3 EIE
200 99 33 | 26 | 22 | 19 | 17 |15 | 13 |12 [P
10 27 8.9 7.2 6.2 5.5 4.9 4.4 4.0 36 || &
20 3% 6.5 5.2 4.5 4.0 3.5 3.2 2.9 2.6
B 30 44 5.5 4.4 3.8 3.3 3.0 2.7 2.4 2.2
40 51 4.9 3.9 3.4 3.0 2.7 2.4 2.1 1.9
50 57 4.4 3.5 3.1 2.7 2.4 2.2 2.0 1.8
60 63 4.1 3.3 2.8 2.5 2.2 2.0 1.8 1.6
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E4U
a= s st= Szt
La AEZ3 mm max.100 = olg = N 1200
Lb AE23 mm max.40 Q3% 5/2 70/C|Ye N 900 A
LaAEZ23 L§= X2 moa) kg 1.1 USE oY DUE kg-m2 7.3x104 ﬁ
Lb AE2I3H LiE E2Kmob) kg 23 L= OFEF E3(Tin) N'm 3.0 o
25z kg 15 g He mm +0.02
EE EIPNCES AR Al ;g—
SHZ NI 2YE ;
_ SXZ Hx & (kg) =
AEES | ABRS | FuA PEEEEE ) —
Bk (mm) )
20 30 40 50 60 80 100 gl
" 20 5.0 4.2 3.7 3.3 2.9 1.5 05 || |8
30 5.5 4.8 4.2 3.8 3.5 2.9 1.8 ||5—
20 30 4.5 3.8 3.3 2.9 2.6 1.1 0.3 |73
40 4.9 4.2 3.8 3.4 3.1 2.5 1.4 |lnl=
0 37 4.3 3.7 3.2 2.8 2.5 1.0 0.2 T;T
45 4.5 3.9 3.5 3.1 2.8 2.0 0.9 El
0 2 42 35 31 07 02 0.8 0.1 %
50 4.4 3.7 3.3 3.0 2.6 1.6 0.6 E
- 47 4.1 3.5 3.0 2.6 2.1 0.7 - -
s 55 4.2 3.6 3.2 2.9 2.6 1.4 0.5 g
60 52 4.0 3.4 3.0 2.6 1.9 0.6 - —
60 4.2 3.6 3.1 2.8 2.5 1.3 0.4 gil
- 58 4.0 3.4 3.0 2.6 2.0 0.7 - A
70 4.2 3.6 3.2 2.9 2.6 1.6 0.6
- 65 4.0 3.4 3.0 2.7 2.2 0.8 0.1
75 4.1 3.5 3.1 2.8 2.5 1.5 0.6 %‘
% 75 4.0 3.5 3.1 2.7 2.4 1.1 0.3 z
86 4.1 3.6 3.2 2.9 2.6 1.8 0.8 2
100 82 4.0 3.5 3.1 2.7 2.5 1.2 0.3 <
90 4.1 3.5 3.1 2.8 2.6 1.7 0.7 |l
" 27 4.7 4.1 3.6 3.2 2.9 2.0 0.4 ||&
3% 5.1 4.4 4.0 3.6 3.3 2.9 22 ||
- 38 4.3 3.8 3.3 3.0 2.7 1.4 0.1 B
b 50 4.7 4.1 3.7 3.3 3.1 2.6 1.9 s
- 46 4.1 3.6 3.2 2.8 2.6 0.9 - &
55 4.3 3.8 3.4 3.0 2.8 2.3 07 |L——
10 54 4.0 3.5 3.1 2.8 2.5 0.6 -
65 4.2 3.7 3.3 3.0 2.7 2.1 0.6
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S
at= sS4zt = EX4zt
La AEZ3 mm max.150 = olg = N 2000
Lb AEZ3 mm max.50 Q= ol Yo|g N 1600 bl
La AE23E L§= XM2k(moa) kg 1.8 YHE Y DUE kg-m2 2.4x10% ﬁ
Lb AE23H Lj& X2Kmob) kg 3.8 L& OFE E3(Tin) N-m 4.8 o
25 22 kg 25 gre He mm +0.02
28 Uy JelA 8% CEA At 3
SHZ HN AYE ;
557 =1 H(kg) £
= | o | T 24215 Bl S (rpm) "
10 20 30 40 50 60 70 80 o
10 21 8.8 7.0 5.9 5.2 4.5 4.0 3.5 2.6 §i
20 30 8.0 6.4 5.4 4.7 4.1 3.7 3.2 2.4 ||7|zm
30 36 7.6 6.0 5.1 4.4 3.9 3.4 3.0 2.1 ||= 2
40 a 7.3 5.8 4.9 4.3 3.7 3.3 2.9 18 ||z
50 46 7.2 5.7 4.8 4.2 3.7 3.2 2.7 1.6 3
60 50 7.0 5.5 4.7 4.1 3.6 3.1 2.4 1.4 5
70 54 6.9 5.5 4.6 4.0 3.5 3.1 2.3 1.3
La 80 58 6.8 5.4 4.6 4.0 3.5 3.1 2.1 1.2 g
90 60 6.7 5.3 4.5 3.9 3.4 3.0 1.8 0.9 L
100 64 6.7 5.3 4.5 3.9 3.4 3.0 1.7 0.9 B
110 7 6.7 5.3 4.5 3.9 3.5 3.1 2.1 1.1 :
120 77 6.7 5.3 4.5 4.0 3.5 3.1 2.3 1.3
130 84 6.7 5.3 4.6 4.0 3.5 3.2 2.6 1.6 "
140 g2 6.7 5.3 4.6 4.0 3.6 3.2 2.9 1.9 3
150 99 67 | 53 | 46 | 4 36 | 33 | 29 | 20 | ®
10 27 8.3 6.6 5.7 5.1 4.6 4.1 3.7 3.4 i
20 37 7.5 6.0 5.2 4.6 4.1 3.7 3.3 3.0 |l
Lb 30 45 7.2 5.7 4.9 4.4 3.9 3.5 3.2 2.8 %
40 52 7.0 5.6 4.8 4.2 3.8 3.4 3.1 2.2 |2
50 58 68 | 54 | 47 | 41 | 37 | 33 | 30 | 16 |
g
&
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EduU
5= ENzt a2 ENZt
La AEZ3 mm max.200 = olg = N 2500
Lb AEZ3 mm max.60 Q= ol Yo|g N 2700 bl
La AE23E {2 X2k(moa) kg 3.6 QlEE By TUHE kg-m?2 8.6x10° ﬁ
Lb AE23H Lj& X2Kmob) kg 6.9 L& OF&t E3(Tin) N-m 7.8 oF
R kg s g mm +0.02
28 Uy J2)A 2 SR Al =
S84 M AEH f__ﬂl
=M X1 Hk(kg) =
= | o i'ﬁ(‘f)%”ﬂ' 2215 &J5 45 (rpm) y
10 20 30 40 50 60 70 80 0]
10 20 14.0 1.1 9.4 8.2 7.1 6.2 5.5 4.7 gi
20 o8 127 | 101 | 85 7.4 6.4 5.8 4.9 4.2 3} 3
30 33 1.9 9.4 | 7.9 6.8 5.9 5.2 4.5 33 || 2
40 38 11.5 9.1 7.7 6.6 5.7 5.0 4.3 3.0 (=X
50 43 11.2 8.9 7.5 6.5 5.6 4.9 4.3 3.0 2 %;:?
60 47 no | 87| 7.3 6.3 5.5 4.8 4.2 2.7 d
70 50 10.8 85 | 7.2 6.2 5.3 4.8 4.0 2.3 El
80 53 10.8 8.4 | 7.0 8.1 5.2 4.5 3.9 2.0 -
90 57 10.5 8.3 | 7.0 6.0 5.2 4.5 3.9 2.0 e
La 100 60 10.4 8.2 6.9 6.0 5.2 4.5 3.6 1.9 —
110 62 10.3 8.1 6.8 5.9 5.1 4.4 3.2 1.5 o
120 85 10.2 8.0 | 6.8 5.8 5.0 4.4 3.1 1.4 4
130 68 10.1 8.0 | 6.7 5.8 5.0 4.4 3.0 1.4
140 70 10.0 7.9 6.7 5.7 5.0 4.3 2.7 1.1 I
150 73 10.0 7.9 6.6 5.7 4.9 4.3 2.6 1.1 -:j
160 78 100 | 79 | 67 5.8 5.0 4.4 3.0 1.4 || ®
170 83 100 | 79 | 87 5.8 5.1 4.4 3.3 16 || &
180 88 100 | 79 | 67 5.8 5.1 4.5 3.6 1.9
190 94 10.0 7.9 6.8 5.9 5.2 4.6 4.1 2.3 z
200 99 0.0 | 79 | 6.8 5.9 5.2 4.8 4.1 25 ||d
10 o7 13.1 | 104 | 9.0 8.0 7.2 6.5 5.9 53 [ &
20 36 1.7 9.4 8.1 7.1 6.4 5.7 5.1 4.6 °
Lb 30 44 11.2 8.9 7.7 6.8 6.1 5.4 4.9 4.4 f-*
0 51 10.8 86 | 7.4 6.6 5.9 5.3 4.7 43 |L——
50 57 10.5 8.4 | 7.2 6.4 5.7 5.1 4.8 4.2
80 63 10.3 8.2 | 7. 6.3 5.6 5.0 4.5 4.1
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